
1. Drill here using 7/32” drill bit
2. Using allen key & adjustable wrench, install 
hardware as shown below

1. Drill here using 1/8” drill bit
2. Place Front Pin Bracket seen below
3. Using a screwdriver, install M4 x 15mm screws

Additional tools required:
7/32” 

Drill Bit
Screwdriver+1/8” 

Drill Bit +
Adjustable wrench 

+

1. Squarely align template on surface
2. Tape template in place before drilling
3. After ALL holes have been drilled, remove 
template and install hardware as directed 

Before beginning, you should:

READ THIS FIRST

®2Tech Tub  Locking System Template

M4 x 15mm
4x

Front Pin Bracket
1x
Not to scale

D

Hardware 
Actual Size Screwdriver

Back Foot Anchor Pin
2x

A B

Hardware 
Actual Size

C

M5 Washer
x2

M5 Lock Nut
x2

Table or Countertop
Maximum Thickness

1-1/2” or 38mm

Section View

B

C

A

Adjustable wrench 

REMOVE TEMPLATE FROM AI BEFORE INSTALLATION PROCESS

R
E

M
O

V
E

 T
E

M
P

L
A

T
E

 F
R

O
M

 A
I B

E
F

O
R

E
 IN

S
T
A

L
L

A
T

IO
N

 P
R

O
C

E
S

S
R

E
M

O
V

E
 T

E
M

P
L

A
T

E
 F

R
O

M
 A

I 
B

E
F

O
R

E
 I
N

S
T
A

L
L

A
T

IO
N

 P
R

O
C

E
S

S

5mm Drive
Allen Key
Not to Scale

1x

FTT600_FTT1000_FTT1000-USB_LockingPinDiagram_RevC_2016


	Page 1

